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36.1 — 36.5 (ycTH
36.6. a) x —y = -—-—(y‘— X)

~(y-X)=-y +X=+X-y
6) (m — n)¢ = (n — m)?

(m — n)° =m2-2mn + n?

=n*2mn+m? = (n — m)?



36.7. a) 10a — (—(5a + 20)) = 5(3a + 4)
10a - (—(5a + 20)) =10a — (— 5a — 20)
=10a+5a+20=15a + 20

= 5(a + 4)
6) —(—7x) — (6 + 5x) = 2(x — 3):

~(~7x) — (6 + 5x) =7x — 6 — 5
=2X — 6 =2(x — 3)




36.8. a) a*+ Ta + 10 = (a + 2)(a + 5).

@+ 2)a + )-a +5a+2a+10-=

a’+ Ta+ 10 m
036.10. a) (a + b)*+ (a — b)* = 2(a?+ b?)
(a + b2+ (a — b)2= az'l'zab"'bz"'
+a2-2db +b? = 252 4 22
=2(a?+b?) =




LAaMOCTOATEeJIbHANA

paboTa
*35.27 — 35.29
35.39
*35.41
*35.42

BapuaHThbl a, 0, B, T.



